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Review: Powers and Exponent Laws

1. Complete the following table.

Power Base | Exponent Repeated Standard
Multiplication Form
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2. Write as a power of 10.
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3. Write each expression as the product or a quotient of powers.
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4. Write each expression as a single power and then evaluate it.
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5. Write each expression as a single power and then evaluate it.
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a) For each group of powers, which represents the biggest number?
8 Vo .ol
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a) Evaluate cach expression.
by -1l iy —l b iy 2y
b) Explain why all the above expressions don’t have the same value.
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Evaluate each expression. Show your work.
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9. Add brackets to make the expression correct.

i 5x (42 - 2:9"1- 3323 =49

(Blxg-0)225 = (3241 <25

10. Danielle and Sara each solved this expression; (=34 x 4 — 1) + (=5)?
Danielle found 13 for her answer andfsmfor her answer.
Who was right? Seoor N
What was the error of the student who had the wrong answer?

Se moight have ‘Hr\@u@b\t (-S) "= -5

11. A square metreis 1 m by 1 m.
=100 R0 0cvrn
a) Write 1 m? in square centimetres a) as a product of powers of 10
and b) as a sin%le power of 10.
1g*xy0°=101

b) Write 1 m? in square millimetres a) as a product of powers of 10
and b) as a single %ower of 10.

(> x10” =y O

12. Simplify each expression using exponent laws. Evaluate each expression. Show all your work.
a) [(3)°F * [P - [(-3))° b) [(-4) x (5)]* + [(4P1 - [(-2)* + (—lg]3
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13. Mr. Zucchini used his calculator to evaluate the expression: m
+(-9

He got 1 for his answer.

a) Isheright? N O
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b) If not, what was his mistake? \’\&mw\\’\‘p\\@.(\, Cll )(('Cﬂ . You ‘C&n\'k' (JC‘.
Yhig, e shouwl & have added

¢) Show a complete solution to this problem.
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14. Slmphfy then evaluate :
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